Math 371 (Differential Equations), Section 3 Your name: K E >/

Quiz 8

November 24, 2009

1. Calculate the Laplace Transform of
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2. Using the answer from problem 1 solve the following differential equation

Lt V=497, Thea  viv-so. w0 =0 vo-1
L4y'5= £ V=-sy0)-Y(o)= sYy-1
JQB”--\-JB: SZ‘Y““&‘\‘V = 7’ (jl‘\'\s—'i.:l{‘fj(’as
T(s \3 1= € 2

S
“S, S | !
V= S+\ S SEne - New 4= & WY
T
T svyy A B . CS+D - As(§+\)+f>(s+\)+(Cs+D\s (A+C)§@T@$+AS+B
AT CS_?_)-%_ < —

A0, B o@- EDo EDHED
¥ &y F{t+h-2- &)= 1+t-cost-sint
y=stint+ J {_Séz:)’sz =sint + (4 &7()-/-@»005(%-\)—5"\“@4)> uk@c*l) =
=in T4 (B cos (6-D-sin (E-DIA (- D)




